Unless otherwise specified
dimensions are in
millimetres.
Tolerances are:

XXX (0 PLS) 0.5 MM

XXX (1 PLS) 0.1 MM

XXX (2 PLS) £0.03 MM

XXX (3 PLS) 0.007 MM

UNLESS OTHERWISE NOTED
ANGLE TOLERANCE #0°30',
UNLESS NOTED

Name

Date

SIZE

UNIVERSITY OF
% LIMERICK

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

Sheet Name:

ISO_VIEWS

©ed

Drawn

Sara Mikolajczyk | 21/03/2024 A4

Checked .
e Title:

STIRLING ENGINE PROJECT

DWG. NO.

REV.

Material: Weight:

Scale: 1:2 Sheet 1 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




Sara Mikolajczyk

DETAIL A
SCALET:1.5

Unless otherwise specified
dimensions are in
millimetres.
Tolerances are:

XXX (0 PLS) 0.5 MM

XXX (1 PLS) 0.1 MM

XXX (2 PLS) £0.03 MM

XXX (3 PLS) 0.007 MM

UNLESS OTHERWISE NOTED
ANGLE TOLERANCE #0°30',
UNLESS NOTED

Name Date

Drawn
Sara Mikolajczyk | 21/03/2024

SIZE UNIVERSITY OF
A4 LIMERICK

OLLSCOIL LUIMNIGH

Checked

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

Sheet Name:

ASSY_ORTHO

=

Title:

STIRLING ENGINE PROJECT

DWG. NO.
Material:

. Scale: 1:2

Weight:

Sheet 2 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




SECTION F-F

SECTION J-J J H SECTION H-H
Unless otherwise specified | Dat SIZE
dimensions are in D:}T: e Ad ETII\\EEERFI%TE?E
millimetres. Sara Mikolajczyk | 21/03/2024 OLLSCOIL LUIMNIGH
Tolerances are: Checked .
XXX (0 PLS) £0.5 MM Title:
XXX (1 PLS) 0.1 MM
XXX (2 PLS) £0.03 MM PO NOT SCALE prAwNG STIRLING ENGINE PROJECT

XXX (3 PLS) +0.007 MM
UNLESS OTHERWISE NOTED THIRD ANGLE PROJECTION

ANGLE TOLERANCE #0°30,
UNLESS NOTED //'\\ |/|
DWG. NO. )
\\w | o

Sheet Name: Material:

Rev. Scale: 1:2 Sheet 3 0of 18

ASSY SECT VIEWS

SOLIDWORKS Educational Product. For Instructional Use Only.




ITEM NO. PART NUMBER Material QTY.
1 BASE PLATE 1060 Alloy 1
6.3 LEFT SIDE FRAME 1060 Alloy 1
3 RIGHT SIDE FRAME 1060 Alloy 1
4 DISPLACER CON-ROD 1
ASSEMBLY
4 DISPLACER CON-lpiain Carbon Steel| 1
4.2 CON-ROD CLAMP |Plain Carbon Steel| 1
4.3 BIG END BUSH Brass 1
4.4 SMALL END BUSH Brass 2
45 3 X 16 COUNTERSUNK 9
: RIVEL B - 661
5.1 DISPLACBESADEyT PISTOL Plain Carbon Steel| 1
52 |DSPLACEMENTPRTONIpgin carbon steel| 1
53  |DISPLACEMENT PRTONIpigin Carbon steel| 1
6 POWER CON-ROD :
ASSEMBLY
6.1 POWER CON-ROD |Plain Carbon Steel| 1
6.2 BIG END BUSH Brass 1
6.3 SMALL END BUSH Brass 1
7 COLD CYLINDER Brass 1
CROSS CYLINDER
45 SUPPORT PIPE Brasss 1
CROSS CYLINDER
? SUPPORT Brass !
10 FLYWHEEL SHAFT Plain Carbon Steel| 1
11 FLYWHEEL Plain Carbon Steel| 2
12 GASKET Copper 1
13 POWER CYLINDER Brass 1
14 HOT CYLINDER Plain Carbon Steel| 1
15 POWER PISTON Plain Carbon Steel| 1
16 SOCKET HEAD CAP 4
M6X10
BS ENISO 4762 M4 x 16
4 _ 16N 4
INSTRUMENT
18 PRECISION BALL 2
BEARING 20619
19 BS EN ISO 4762 M4 x 20 8
-20C
2 M4 X 10 SOCKET GRUB 9
SCREW CONE POINT
21 M6 X 16 SLOTTED 2
CHEESE HEAD SCREW
22 M3 X 10 PARALLEL PIN 1
23 M3 X 16 SLOTTED PAN 1
HEAD SCREW
M3 HEXAGONAL THIN
24 NUIT ]

Unless otherwise specified
Jdimensions are in
millimetres.

[folerances are:

XXX (0 PLS) $0.5 MM
XXX (1 PLS) 0.1 MM
XXX (2 PLS) £0.03 MM
XXX (3 PLS) £0.007 MM
UNLESS OTHERWISE NOTED
ANGLE TOLERANCE 0°30’,
UNLESS NOTED
Sheet Name:

EXPLODED VIEW

Name Date
Drawn

Sara Mikolajczyk
Checked

21/03/2024

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

@

SIZE

A3

Title:

STIRLING ENGINE PROJECT

UNIVERSITY OF

LIMERICK

OLLECOIL LUIMNIGH

DWG. NO.
Material: Weight: 2777.72g

eV Scale: 1:2.5  Sheet 40f 18

~ SOLIDWORKS Educational Product. For Instructional Use Only.



10.029
P10.018

R16

4°

@10

80 £0.05

6.012
6.000

| Y ‘
C ™ —1
. A CO—=)
8.030 6.016
0 3.025 D 6.008
8.000 @ 3000 .

BIG END BUSH
MATERIAL: BRASS

SMALL END BUSH
MATERIAL: BRASS

POWER CON-ROD - MATERIAL: PLAIN CARBON STEEL

Unless otherwise specified
dimensions are in
millimetres.
Tolerances are:
XXX (O PLS) 0.5 MM
XXX (1 PLS) 0.1 MM
XXX (2 PLS) £0.03 MM
XXX (3 PLS) £0.007 MM
UNLESS OTHERWISE NOTED
ANGLE TOLERANCE #0°30',
UNLESS NOTED

Name

Drawn
Sara Mikolajczyk

Date

21/03/2024

SIZE UNIVERSITY OF
A4 LIMERICK

OLLSCOIL LUIMNIGH

Checked

Title:

Sheet Name:

POWER CON-ROD ASSY

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

G\
N

— |
—

POWER CON-ROD ASSEMBLY

DWG. NO. )
Material: Weight:

Scale: 1.5:1 Sheet 5 of 18

REV.

SOLIDWORKS Educational Product. For Instructional Use Only.




DIN 661 -3X 16
COUNTERSUNK RIVEL TYPE B

BIG END BUSH

95

SMALL END BUSH

!

6.012
2 6.000
RS
Y \
A ;
_ | ! | [ l I
5 RO.5
@ 3> ~
15 13 _
R5
SECTION E-E
6.015
P 6.:000
Unless otherwise specified | ygme Date

dimensions are in
millimetres.
Tolerances are:
XXX (O PLS) 0.5 MM
XXX (1 PLS) 0.1 MM
XXX (2 PLS) £0.03 MM
XXX (3 PLS) £0.007 MM
UNLESS OTHERWISE NOTED
ANGLE TOLERANCE #0°30',
UNLESS NOTED

Drawn
Sara Mikolajczyk | 21/03/2024

SIZE UNIVERSITY OF
A4 LIMERICK

OLLSCOIL LUIMNIGH

Checked

Title:

Sheet Name:

DISPLACER CON-ROD ASSY

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

@

DISPLACER CON-ROD ASSEMBLY

DWG. NO.
Material:

Scale: 1:2

REV.

Weight:

Sheet 6 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




, _______ TTTTN
i / B B _ == _ o
- = P
\
C Dt et = S _ ?C
70.50
5 69.50 .
| |
1
/ '
- _ | /. _ / Z |
= i 1)
2
. 80 +0.05 _ . )
1 X 45°
2 D < SECTION C-C
v oy >y SCALE T :1
I e —— = D | .
© \ #3025 B . ] 28
3.000 — 1X45° | 38
. 85 _ —t 11 o |
= = ! I ——
DISPLACEMENT PISTON SHAFT - MATERIAL: PLAIN CARBON STEEL 2 58 N B 129
DETALD  So| £ - = SN
B 20 - SCALE3:1 s EA I
B ~| 10+0.1 IO Ee—— -
DR 1
Y | - 30 - 1 10 |
= DISPLACEMENT PISTON BODY - MATERIAL: PLAIN CARBON STEEL
\\\ 5 Upless themise specified | name Date SIZE RBUEREITY.OF
o Y S W oo e 2vovzoze | A4 | LB)LIMERICK
/ N Tolerances are: Checked .
o Sl S S o
o‘L |V XXX 2 PL3] 2003 M PO NOT SCALE DRANING DISPLACER PISTON ASSEMBLY
XXX (3 PLS) £0.007 MM
i ? ’ Amisfoﬂ:imss $3OOTED THIRD ANGLE PROJECTION
Jo2 T e (Y 1 |eer
DISPLACEMENT PISTON CAP - MATERIAL: PLAIN CARBON STEEL PLACER PSTON A Y "~ | segie 1] Sheet 7 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.



A A .
-, o
©) ©)
SN N
&) (&)

1 X 45° CHAMFER

TOP AND BOTTOM

y
E®) (@)
(@)
—
[00)
3 @\
|
i
4XD6.6
L 1 P11Té

NOTE:

ADD YOUR NAME CENTRED ON THE FRONT FACE IN 5MM HIGH
RED LETTERING WITH A PROTRUSION OF 0.5MM AND 3MM ABOVE
THE BOTTOM SURFACE AS SHOWN ABOVE.

COUNTERBORED HOLES CREATED ON
BOTTOM SURFACE TO SUIT M6 SOCKET

HEAD CAP SCREW

DETAIL U
SCALE2:2.5

Unless otherwise specified
dimensions are in
millimetres.
Tolerances are:
XXX (0 PLS) 0.5 MM
XXX (1 PLS) 0.1 MM
XXX (2 PLS) £0.03 MM
XXX (3 PLS) 0.007 MM
UNLESS OTHERWISE NOTED
ANGLE TOLERANCE #0°30',
UNLESS NOTED

Name

Drawn
Sara Mikolajczyk

Date

21/03/2024

SIZE UNIVERSITY OF
A4 LIMERICK

OLLSCOIL LUIMNIGH

Checked

Sheet Name:

BASE PLANE

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

@

Title:
BASE PLANE

DWG. NO.
Material: 1060 Alloy Weight:

- Scale: 1:2 Sheet 8 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




40 /* 2 HOLES M4x0.7

| |
Y YENP 1 Lo 1 N N
© — .‘dhi.‘w".‘.:&*..i T — e e 412 2 A S —
I

‘ o
1-+ 3 -

SECTION N-N SECTION O-O  SECTION P-P

200 * ALL UNSPECIFIED FILLETS TO BE R2
*FOR THE M 6 AND M4 TAPPED HOLES MAKE THE
DRILLED HOLE DEPTH 10 AND THE THREAD DEPTH 8

S ': e R — i'_____ l — , = E— :b:'__—_H AS SHOWN IN THE DRAWINGS
7 . 7 | I | | I I NS
Lo 11 | ] ] ] L . ul
R2—"
2 HOLES Méx1.0

B 132 -

— o Unless otherwise specified | Dat SIZE
dimensions are in D:}T: e A4 ETII\\EEERFI%TE?E
millimetres. Sara Mikolajczyk| 21/03/2024 OLLECOIL LUIMNIGH
Tolerances are: Checked !

XXX (0 PLS) +0.5 MM Title:

XXX (1 PLS) 0.1 MM

XXX (2 PLS) £0.03 MM

XXX (3 PLS) £0.007 MM

UNLESS OTHERWISE NOTED
ANGLE TOLERANCE +0°30,
UNLESS NOTED

Sheet Name:

LEFT SIDE FRAME

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

(A —
7 ]

LEFT SIDE FRAME

DWG. NO.
Material: 1060 Alloy

Rev. Scale: 1:1.5

Weight:

Sheet 9 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




-
_‘#_

EXCEPT THAT IT IS THE OPPOSITE HAND.

CLICK INSERT > MIRROR PART.
THE TWO PARTS ALWAYS MATCH

THIS RIGHT SIDE FRAME PART IS EXACTLY THE SAME AS THE LEFT SIDE FRAME

IN SOLIDWORKS TO CREATE A MIRRORED, DERIVED PART YOU CLICK THE
APPROPRIATE MODEL FACE OR PLANE ABOUT WHICH TO MIRROR THE PART, AND

BECAUSE THE MIRRORED VERSION IS DERIVED FROM THE ORIGINAL VERSION,

Unless otherwise specified
dimensions are in
millimetres.
Tolerances are:
XXX (0 PLS) 0.5 MM
XXX (1 PLS) 0.1 MM
XXX (2 PLS) £0.03 MM
XXX (3 PLS) 0.007 MM
UNLESS OTHERWISE NOTED
ANGLE TOLERANCE #0°30',
UNLESS NOTED

Name Date
Drawn
Sara Mikolajczyk | 21/03/2024

SIZE

UNIVERSITY OF
A4 % LIMERICK
Title:

Checked

Sheet Name:

RIGHT SIDE FRAME

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

@

RIGHT SIDE FRAME

DWG. NO.
Material: 1060 Alloy

Scale: 1:1.5

REV.

Weight:

Sheet 10 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




( N
o
’0\

15

R1

64 #0.1

Unless otherwise specified SIZE
" X > SP Name Date UNIVERSITY OF
dimensions are in Brawn Ad LIMERICK
millimetres. Sara Mikolajczyk | 21/03/2024 OLLECOIL LUIMNIGH
Tolerances are: Checked .
XXX (0 PLS) £0.5 MM Title:
XXX (1 PLS) £0.1 MM
DO NOT SCALE DRAWING
XXX (2 PLS) £0.03 MM FLYWHEEL SHAFT
XXX (3 PLS) +0.007 MM
UNLESS OTHERWISE NOTED THIRD ANGLE PROJECTION
ANGLE TOLERANCE #0°30',
UNLESS NOTED
. DWG. NO.
Sheet Name: Material: Plain Carbon Steel  Weight:
REV. . .
FLYWHEEL SHAFT Scale: 1:1 Sheet 11 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




SECTION G-G
SCALE 1 :1
450

N 17
1X45° . 2X45° G EIRE
2.5 =
A 4 N
N\
I /R]
OO
— O
A b A G0
a1 7 S8 Y
--/[- ----- a 0| | ® C_D /7 ! o
{8 - NP RS N
H 77/¥ -
~j;/ = \\ jQ 1 A/
D?"U.I A
|| P \‘?

W
Y \ 74
AL—
AXIS OF 60° HOLE TO COINCIDE
WITH INTERNAL CORNER BEFORE

DETAIL Q SCALE 2:1 R1 FILLET IS ADDED

Unless otherwise specified SIZE

" X > SP Name Date UNIVERSITY OF
dimensions are in Brawn Ad LIMERICK
millimetres. Sara Mikolajczyk | 21/03/2024 OLLECOIL LUIMNIGH
Tolerances are: Checked .

XXX (0 PLS) £0.5 MM Title:

XXX (1 PLS) 0.1 MM

XXX (2 F’LS) +0.03 MM DO NOT SCALE DRAWING FLYWH EEL

XXX (3 PLS) £0.007 MM

UNLESS OTHERWISE NOTED THIRD ANGLE PROJECTION

ANGLE TOLERANCE #0°30',

UNLESS NOTED

Sheet Name: PWENO i aterial: Plain Carbon Steel | Weight:

FLYWHEEL - Scale: 1:1 Sheet 12 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.



72

Y
/
%\o / 4 g
. : L _ _ I :)'
A 9l
1S
(] —r
- ! 91 2 -— <'_ !
SECTION Il
10018 SCALE 1 :1
®10.000 V19 %0

©3.3 THRU
M4X0.7 - 6H THRU

|

|

|

|

|

|

|
S S

———

@3 THRU ©5X90°

Unless otherwise specified
dimensions are in
millimetres.
Tolerances are:
XXX (0 PLS) 0.5 MM
XXX (1 PLS) 0.1 MM
XXX (2 PLS) £0.03 MM
XXX (3 PLS) 0.007 MM
UNLESS OTHERWISE NOTED
ANGLE TOLERANCE #0°30',
UNLESS NOTED

Name Date
Drawn
Sara Mikolajczyk | 21/03/2024

SIZE
A4

UNIVERSITY OF
% LIMERICK

Checked

Title:

Sheet Name:

POWER CYLINDER

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

@

DWG. NO.

REV.

POWER CYLINDER

Material: Brass

Scale: 1:1

Weight:

Sheet 13 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




62

10 10 |
(I . ____ I
V/\ 1
—_— ] N X
- S 82
s S
S
30.20
- 30.00 _
3.012 _— -
3.ooox : !
| o —
| AN
NG :
! Fi
| - -t ~ i | F---
Y o < W | [
, o
| S
' I -
1 X 45° 1 X 45° .32

1

020

Unless otherwise specified
dimensions are in
millimetres.
Tolerances are:
XXX (0 PLS) 0.5 MM
XXX (1 PLS) 0.1 MM
XXX (2 PLS) £0.03 MM
XXX (3 PLS) 0.007 MM
UNLESS OTHERWISE NOTED
ANGLE TOLERANCE #0°30',
UNLESS NOTED

Name Date
Drawn
Sara Mikolajczyk | 21/03/2024

SIZE UNIVERSITY OF
A4 LIMERICK

OLLSCOIL LUIMNIGH

Checked

Sheet Name:

CROSS CYL & POWER PISTON

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

@

Title:

CROSS CYLINDER SUPPORT PIPE &

POWER PISTON

DWG. NO.
Material: Brass

Scale: 1.5:1

REV.

Weight:

Sheet 14 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




- — — - 8 x M4x0.7 - 6HT 15
- 15 47 FQUALLY SPACED ON 38 PCD
plnlnlnlnlnininin, ®»38 PCD
] A
10.018 H H B [ ] [ [
P 10,000V 7 INIRIRIRIRIRIRIRIRE
L 11272
N P11X90° P 50
L m%:%_
I
I g— 2 1
/W___L—- [

no 4 7 Sel —| <
g =1, 3| 58] IS ) al ©
% Q| ©© ! 2
g — S ~7] 8
I

= 777
) ) / /
L7 1 SRSy \
—" G
R1

DETAIL L s 4__2
SCALE 2:1
SECTION K-K
SCALE T :1 Unless otherwise specified SIZE

dimensions are in tame pate tTmEERP‘R"IE?E

e Drawi
milimetres. Sg;OnMiko\ojczyk 21/03/2024 A4 OLLSCOIL LUIMNIGH
Tolerances are: Checked .

XXX (0 PLS) 0.5 MM Title:

XXX (1 PLS) 0.1 MM

XXX (2 PLS) 0.03 MM DO NOT SCALE DRAWING C O LD CY |_| N D E R

XXX (3 PLS) £0.007 MM

UNLESS OTHERWISE NOTED THIRD ANGLE PROJECTION

ANGLE TOLERANCE #0°30', m

UNLESS NOTED
Sheet Name: Q WG NO. Material: Brass Weight:
COLD CYLINDER \\w - Scale: 1:2 Sheet 15 0f 18

SOLIDWORKS Educational Product. For Instructional Use Only.




AL
oY
=)
L 27
DETAIL B
SCALE5:1
8 X @ 4.5 EQUISP 38 PCD - 52
5

i (=

—_—————————————— -

@26

e [ _| Y Y
= K DETAIL S
| SCALE5: 1

SECTION T-T

o N

D 46

Unless otherwise specified SIZE
i X > SP Name Date UNIVERSITY OF
imensions are in
e Drawn A4 LIMERICK
millimetres. Sara Mikolajczyk | 21/03/2024 OLLECOIL LUIMNIGH
Tolerances are: Checked .
XXX (0 PLS) £0.5 MM Title:
XXX (1 PLS) £0.1 MM
XXX (2 F’LS) +0.03 MM DO NOT SCALE DRAWING H OT CYLIN DER
XXX (3 PLS) £0.007 MM
UNLESS OTHERWISE NOTED THIRD ANGLE PROJECTION

ANGLE TOLERANCE #0°30',

UNLESS NOTED

Sheet Name: PWENOT | aterial: Plain Carbon Steel | Weight:

HOT CYLINDER - Scale: 1:1 Sheet 16 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.



© ©

H- - L __H

1 X45°

'I

RS 2 s

T
Uz

/
S s

SECTION
RZ  SCALE1

6
BN

\\ :—

> |
// |

|

T

|

|

T

|

|

o :
|

/, |
S,

-

— ==
4
\

N
TN
\ /

N

18

"/-/69\:‘7
\\s 4/1
/
\\‘ //
\T—

\
[

M-M
201

COUNTERBORES SIZED TO SUIT M4
SOCKET HEAD CAP SCREW

dimensions are in
millimetres.
Tolerances are:
XXX (O PLS) 0.5 MM
XXX (1 PLS) 0.1 MM
XXX (2 PLS) £0.03 MM
XXX (3 PLS) £0.007 MM
UNLESS OTHERWISE NOTED
ANGLE TOLERANCE #0°30',
UNLESS NOTED

Unless otherwise specified

SIZE
Name Date UNIVERSITY OF
Dravin Ad LIMERICK
Sara Mikolajczyk | 21/03/2024 OLLECOIL LUIMNIGH
Checked .
Title:

Sheet Name:

CROSS CYLINDER SUPPORT

DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

@

CROSS CYLINDER SUPPORT

DWG. NO.

REV.

Material: Brass

Scale: 1.2:1

Weight:

Sheet 17 of 18

SOLIDWORKS Educational Product. For Instructional Use Only.




8 X ® 4.5EQUALLY SPACED ON 38 PCD

I
-

D26

M4 X 10 SOCKET GRUB

@38 PCA INSTRUMENT PRECISION SCREW CONE POINT
BALL BEARING 20619 2 OFF 2 OFF

D 46

GASKET - MATERIAL: COPPER
SCALE 1:1

Mé X 16 SLOTTED CHEESE M3 X 16 SLOTTED PAN
HEAD SCREW HEAD SCREW
2 OFF
S
M4 X 16 SOCKETHEAD M4 X 16 SOCKET HEAD Mé X 10 SOCKETHEAD M4 X 20 SOCKET HEAD M3 HEXAGONAL
CAP SCREW CAP SCREW CAP SCREW CAP SCREW THIN NUT
4 OFF 4 OFF 4 OFF 8 OFF
tanIess otherwise specified | name Date SIZE RBUEREITY.OF
fT:irmreﬂnesflfoer;S- e ?g;gnMiko\ajczyk 21/03/2024 A4 I&l’g‘ﬂuﬁﬁ.ﬁﬁ
Tolerances are: Checked ]
XXX (0 PLS) 0.5 MM Title:
XXX (1 PLS) £0.1 MM
XXX [2PLS) 2003 M PO NOT SCAE R GASKET AND TOOLBOX PARTS
XXX (3 PLS) 0.007 MM
UNLESS OTHERWISE NOTED THIRD ANGLE PROJECTION

ANGLE TOLERANCE #0°30',

UNLESS NOTED

Sheet Name: pwE.NO. Material: Copper Weight:

GASKET AND TOOLBOX PARTS REV. Scole: 2: 1 SheeT 1 8 Of 1 8

SOLIDWORKS Educational Product. For Instructional Use Only.



